o\ 2/ {1511 5—20—S SRE!

O & E K
SR- 400
L3 I—f<)b|~¢§400mm
K L1 K RNAZ))EA—rn—5
b
Il O 0 ol n N n
\ \ ¥ \ \ ¥ 7/ / 7/ /
.\ .\ i .\ i\ 8 w— . — | w— 8 w—r . w_—
hy A% 2y A\ © A X \ f 7/ y il 1/ 7/ — —1 [ [an] AT
® A A A\ A\ A\ \Y / 7/ '/ 7/ 7/ B =
AV ARV \\ L AQYAVi A YV A\ AV /[ N/ AV AV /[ 3y
\ § \ § A\ // 7/ / s
\Jy \y / )
G L2 G
\d a/
(mm)

400 SR-400 104 | 460 | 480 | 502 | 21
450 SR-450 104 | 510 | 530 | 552 | 21
500 SR-500 104 | 560 | 580 | 602 | 21
600 SR-600 104 | 660 | 680 | 702 | 21
750 SR-750 121 | 850 | 880 | 902 | 26
900 SR-900 121 | 1000 | 1030 | 1052 | 26
1050 | SR-1050 | 148 | 1150 | 1180 | 1210 | 30
1200 | SR-1200 | 148 | 1300 | 1330 | 1360 | 30
1400 | SR-1400 | 172 | 1530 | 1550 | 1580 | 25
1600 | SR-1600 | 172 [ 1730|1750 | 1780 | 25
1800 | SR-1800 | 172 | 2000 | 2040 | 2070 | 35
2000 | SR-2000 | 172 | 2200 | 2240 | 2270 | 35

R EIN IR SRNRE!

14 20 | 6204zZZ | 6.3
14 20 | 6204ZZ | 6.9
14 20 | 6204zZ | 75
14 20 | 6204ZZ | 8.6
14 20 | 6204ZZ | 142
14 20 | 6204ZZ | 164
11 18 25 | 6205ZZ | 255
11 18 25 | 6205ZZ | 285
11 22 30 | 6206ZZ | 46.4
11 22 30 | 6206ZZ | 51.5
11 25 35 | 6207ZZ | 61.8
11 25 35 | 6207ZZ | 67.8

A || A DO W W W W |w |9

o5 RE OB K45
SRNR- 500
L3 |_
K L1 K A JLMIE500mm
P Lo P TLRIAS ) E—rO0—F5
W

1\ .\ /A A
i NN o

G L2 G

¥ dLR/INAF)LYE—2A—F1EBW 500, 600, 750, 900D #EAYFET D TTEERELNET,

(mm)

500 | SRNR-500 [ 102 | 72 | 520 | 560 | 580 | 602 | 21 20 | 100 | 15
600 | SRNR-600 [ 102 | 72 | 620 | 660 | 680 | 702 | 21 20 | 100 | 15
750 | SRNR-750 [ 115 | 85 | 810 | 850 | 880 | 902 | 26 20 | 100 | 15
900 | SRNR-900 | 115 | 85 | 960 | 1000 | 1030 | 1052 | 26 20 | 100 | 15

14 20 | 6204zz | 7.7
14 20 | 6204zZ | 8.9
14 20 | 6204zZ | 125
14 20 | 6204zZ | 146

G
3
3
3
3

© | © | 0© | 0o






